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BEILFE - EEGFRILEM - 5E - AE BIFLER
2 0 L # 3 £ % £l S &=
4 (FO) SH6E SH55E 15 P SH6E SH54 2 i SH6HE SH5E b b5
1~11H 1~118 % ] % 1~11H 1~118 % 0 % 1~11H 1~118 Gk 4uh)

E E L OFE 152 92 60 65.2 137 80 57 71.3 90.1 87.0 3.1
® A 7 5 2 40.0 6 4 2 50.0 85.7 80.0 5.7
5# & 6 8 -2 -250 7 11 -4 -36.4 116.7 1375 -20.8
)i X 12 7 5 71.4 10 7 3 429 83.3 100.0 -16.7
TRIEMRE 45 25 20 80.0 44 16 28 175.0 97.8 64.0 338
BREEIRE 7 9 -2 -22.2 5 9 -4 -44.4 714 100.0 -28.6

TRIEHLWLVED 75 38 37 97.4 65 33 32 97.0 86.7 86.8 -0.1

EEHZEPL 1,182 1,332 -150 -11.3 553 767 -214 -27.9 46.8 57.6 -10.8
B A B 1,054 1,222 -168 -13.7 486 713 -227 -31.8 46.1 58.3 -12.2
FEXZR 451 541 -90 -16.6 151 341 -190 -55.7 335 63.0 -29.5

T o B 327 389 -62 -15.9 114 218 -104 -47.7 34.9 56.0 -21.1
B R H 118 143 -25 -175 36 119 -83 -69.7 30.5 83.2 -52.7
B = = 6 9 -3 -33.3 1 4 -3 -75.0 16.7 44.4 -27.7
z D i 603 681 -78 -11.5 335 372 -37 -9.9 55.6 54.6 1.0
B & E & 114 98 16 16.3 62 49 13 26.5 54.4 50.0 44
Vof=KY 6 2 4 200.0 3 2 1 50.0 50.0 100.0 -50.0
El Y 8 10 -2 -20.0 2 3 -1 -33.3 25.0 30.0 -5.0
£4 (£0) . i A £ %
SH6E LS55 b i SH65E SH55 # i SH65E SH55E 1 P
1~118 1~118 A g8 % 1~118 1~118 A = % 1~118 1~118 A = %

E Z N F 106 73 33 45.2 92 64 28 438 14 9 5 55.6
F3 A 5 2 3 150.0 5 1 4 400.0 1 -1 -100.0
[ & 8 19 -1 -57.9 8 13 -5 -385 6 -6 -100.0
)i X 10 7 3 42.9 9 6 3 50.0 1 1
TRIEMRE 36 13 23 176.9 31 12 19 158.3 5 1 4 400.0
BREGEIRE 5 7 -2 -28.6 4 7 -3 -42.9 1 1 -

FREDLUVED 42 25 17 68.0 35 25 10 40.0 7 7 -

EEHGEL 110 122 -12 -9.8 97 103 -6 -5.8 13 19 -6 -31.6
g A B 89 104 -15 -14.4 80 93 -13 -14.0 9 11 -2 -18.2
FEXR 26 36 -10 -278 22 34 -12 -35.3 4 2 2 100.0

T ox B 21 26 -5 -19.2 17 25 -8 -32.0 4 1 3 300.0
B R H 4 8 -4 -50.0 4 7 -3 -42.9 1 -1 -100.0
B = = 1 2 -1 -50.0 1 2 -1 -50.0
F 0O i 63 68 -5 -7.4 58 59 -1 -1.7 5 9 -4 -44.4
EREIRE 17 11 6 54.5 15 9 6 66.7 2 2
Vof=<Y 2 3 -1 -33.3 2 2 - 3 -3 -100.0
El Y 2 4 -2 -50.0 1 -1 -100.0 2 3 -1 -33.3




